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Series of Transformations
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/he examples we have studied so far in this unit
gure. We can also perform more than one transfo
perform a sequence of transformations on a figure.

1. AABC has been plotted below.
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and the last we have only perfo
rmation on a figure. In the follo

rmed one transformation on a
wing problems, you will

Reflect AABC over the y-axis

and label the image AA'B'C.

 Reflect AA'B '’ over the x-axis

and label the image AA"B"C".

. What one transformation is the

same as this double reflection?
|
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rotahon 180 ava

a. Reflect ADEF over the line x = 1
and label the image AD'E'F'.

b. Reflect AD'E'F' over the y-axis and
label the image AD"E"'F".

c. What one transformation is the same
as this double reflection?

Tronsiahon ) lef?

1 4. Write a coordinate rule for the

3. QUAD has been plotted below.
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transformation of ADEF to
AD"E”F”.

(x,u)') = (x-2, Lj)

a. Reflect QUAD over the x-axis
and label the image Q'U’A'D".

b. Translate Q'U’'A'D' according to
the rule (x,¥) = (x +9.¥)
label the image Q""U"'A"D".
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4. ALMN is graphed on the grid below.
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5. LMNQO is graphed on the grid below.
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Rotate ALMN 90°clock@se abou’t t}:e ’
origin. Label the new triangle AL Af/[ N'.
Dilate AL'M'N' by 2 sc_ale factor of 3
with the center of dilatlon’z'it ('} 4 %).
Label the new triangle AL"M"N".
Write a statement that shows the
relationship between ALMN and

AL'M'N'.

ALMN ZALMN

d.

Write a statement that shows Ehe
relationship between AL'M'N" and
AL”M”N”-

ALMN~ AU M'N

€.

List five other relationships between
corresponding angles, sides, etc. that you
know to be true based on the
relationships in parts ¢ and d.

)

a. Dilate LMNO by a scale

o
|

factor of 2 with the center

0y P U el

of dilation at the origin.

D

Label the new quadrilateral
L'M'N'O".

/ |
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. Reflect L'M’'N'Q' across

"

‘ the y-axis. Label the new

N

quadrilateral L""M""N" 0",

¢. Write a statement that

shows the relationship

between LMNO and

N

L'M'N'O’.
LMNO~L'm'N' 0"
d. Write a statement that
shows the relationship

between L'M'N’Q’ and
L”M”N”O"-

LMIN'G = L'mN'e" )
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 the pict :
picture below, triangle 1 has been transformed to obtain triangle 2,

l o
! l 6 s a. Which one transformation would carry
| f l// - triangle 1. onto triangle 27
| NERy 48 vptahg, 150 o ndl
A+ (0,6)
3 ations in succession

b. Which two transform
le 1 onto triangle 27

would carry triang

| I | coflechion  0-C(eSS X g
Y axi s

1 has been transformed to obtain triangle 2.

[n the picture below, triangle
| F

f ‘ R I N i - a. Which one transformation would carry
| ] triangle 1 onto triangle 27
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b. Which two transformations in succession

would carry triangle 1 onto triangle 27
reflechn  QCrosS %-ax§
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e of transformations that would carry triangle 1 onto triangle 2.

Jescribe a transformation or sequenc

e Flect Owross %’M"\S

73
-

WG\V\S\O\‘R Wi




nner

o

W PYMoA g, Wu3)4 24 1

|
|
l

T
| |

l

|

it

20 : T ¢
- ; i >
[Wanlhua | voy o4 e
3 L 9 @
vo._m_ T M W\t o WO A m
.17. ~A ‘M0[2q 7 2[3ueLn ojuo | s[Fusin ALTEs pInOMm JEY) SHONBULICISURX JO souanbas 10 UoRBULIOJSURY B un_tomua ‘6

W30 2 1n0qe FSLIG]5 UOHEOT 081 8 AQ pamol[0) (¥ + £'%) « (£'%) 3

i _ o

|
-4t

~

$ i g | ol-

"%
(x'A) « (£'%) £q pamofioy ? M.Rw “(£%) "

240 404 ¥ ﬁ, S N | i
!

urduo a1f) INOJE ISIMYI0[IIANUNOD UOLEIOI G € AQ Pamo[[o) mml..mx.m +%)« (£'%) p _ l

X e
Tape} 23 )P \ Anddiau

SIXE-X 31} SS0IOT uondalyal & Aq pamojioy (A€ xZ) « (£°x) -2

A2 U4\ 1P
-

*u_ .D_\..

£

N AL :
] H¥<|J = ,.\.IJW..
:

< i

A11ea pjnom yerp suoneuLosuen jo souanbas 10 uoneuLojsuen v aquosaq ‘8

| i ]

I
! ]

T —-
!

e - 58

71 ]

"mMO[aq 7 213y ojuo | amSy

ﬁ¢>m>
BTy) STV

SSO Y W) 242,
AT, ‘ g \
Aq pamoyioy (Xx=) « (£7%) q —_— sy
ofmﬂ ,>Q£6*Q&

AV 1'9)
Wy | ,u\

(Az‘x7) « (£'%)

mw\ﬁnﬁ_( C...o.?.f (ZFA9—x) - (£'%) =

Joiy1au 10 ‘s2UN3Y yuaruSuos ‘samBy Jejrus
) 11 SuImo][0] A} JayIaym ulIAEg ']

nsnl e aplacid
wonbas 10 SUOHBILIOJSUE

ue Ino& 10§ uonedy

*19MS
puLIOJSUBI) JO 39

‘T 9B o)y v —]
ver 161 [1IM SUOD = OO 1 28UeLy 1185 pinos vome ... o



